Mid Unit Weather Test Review
Remember to review notes from your weather unit.



1.  Describe the water cycle. (Look at notes/making sense notes for Weather or Not lesson)

2.  Which piece of glassware in the lab do you think measures the volume of liquids most accurately?  

3.  What happens to a substance that undergoes sublimation? 

4. Convert 315 K to °C.

5. To change a temperature expressed in degrees Celsius to a temperature on the

Kelvin scale, what must be done to the Celsius temperature?

Why must we use the Kelvin scale in gas law problems?


Short Answer
6.  What is the volume of liquid in the graduated cylinder shown in the diagram?  How many significant figures does this measurement have?
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5 mL

 

 0 mL

7. The volume of a sample of gas is 2.00 L when the temperature is 11.0 °C. While

the pressure remains constant, the temperature is changed to a new value,

which causes the volume to become 3.00 L. What was the temperature changed

to?

This is an example of ____________________’s Law.

8. . The volume occupied by a sample of gas is 480 mL when the pressure is 115 kPa.

What pressure must be applied to the gas to make its volume become 650 mL?

This is an example of __________________’s Law.
9. If a gas in a closed container is pressurized from 15.0 atmospheres to 16.0 atmospheres and its original temperature was 25.0 °C, what would the final temperature of the gas be?
This is an example of __________________’s Law.
10.  What is the volume of gas at 2.00 atm and 200.0 K if its original volume was 300.0 L at 0.250 atm and 400.0 K? 
12.  What is the total pressure of a mixture of helium, nitrogen, and oxygen if their partial pressures are 700 mm Hg, 250 mm Hg, and 50 mm Hg?

13.  The barometer shows the atmospheric pressure to be 862 mm Hg.  What is the partial pressure of nitrogen if nitrogen makes up 78 percent of the air?
Convert the following using your conversation factor sheet:
14.  5.5 L = ___ molecules

15.  5 moles = ___ liters
16.  1.75 atm = _____ torr
17.  2.04 atm = _____ kPa


Le Chatlier’s Principle Review
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